run_13065056 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13065056 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13065056 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
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run_13065056 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13065056 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13065056 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13065056 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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run_13065056 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Mon Mar 5 22:02:53 2012

[ ADC for FGT RDO=1,ARM=0,APV=17

[ 1000 2000

3000 4000
raw ADC

[[_ADC for FGT RDO=1,ARM=0,APV=18

3

ADOpgj

0 1000 2000

3000 4000
raw ADC

ADC for FGT RDO=1,ARM=0,APV=19
—

1000 2000

3000
raw ADC

[ ADC for FGT RDO=1,ARM=0,APV=20

0 1000 2000

3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=0,APV=21

0 1000 2000

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=17_J

APV channel

" 1
60 80 100 120
APV channel

= 4000 p—
5] =
iy =
Q 3500 fm—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 f=——
=
500 fm——
=
=
o =
= i
0 20
[ ADC for FGT RDO=1,ARM= =18
= 4000 p—
] = 5
5 =
8 3500 =
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 P=—
=
500 f—
=
0=
E_. . i
0 20
[ ADC for FGT RDO=1,ARM=0,APV=19
= 4000 p—=
] = 5
2 = 2
Q 3500 =t - - - - -
< =
3000 - - - - - - -
=
2500 = - - - - - - -
=
2000 = -
=
1500 f=—-------
1000 f=—-------
=
500 = e - - - e e
=
() = S
= i
20
[ ADC for FGT RDO=1,ARM=0,APV=20
= 4000 p—
5] = .
& =
Q 3500 F=—
< =
3000 f=—
2500 &

2000

1500

1000

500

0

60 80 100 120
APV channel

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=0,APV=21

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40

60 80 100 120
APV channel

APV channel

.4 ..l el Rl 3

10

10

10°

10

10°




run_13065056 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13065056 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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run_13065056 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13065056 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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Mon Mar 5 22:05:41 2012

[ADC RMS for RDO=1LARM=L,APV=0 J

100 f—rrr e O T EEE T EEEED LT KEEE TR T KEEE TR EEEErEE

RMS (ADC-ped)

i
120
APV channel

RMS (ADC-ped)

i i i
80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=2 "}

120

100 P

RMS (ADC-ped)

80 |-

60 [
40 | .- ----- - X B e --------------------- --------------------------------------------
B I 1t 1 o 1 T 1
Og_ 36 26 eio SiO 1[!0 20

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=1,APV=4 "}

3
|3 100 [+
(6]
o
)
2 & |BE=c50500005000050500d@hsosacs||dfbscos=posodhocossssoscssasassdHbodbempacsosodHbeossoqmpodhosgrosoocasosassoscsdifodblosodmreasscscscdhosassas
&
L o PP T EETTEET-FETPRE & & PEEEY B "PEE-PRETPREEPREPPREEPE | P P O 3 ST A 0 X P A . BN PR & SEEEPEETR ¥ = F E R Y § EPRE 1 PERTY - EPRETe
s —-ttH P b T e e A S R R A A F EREEES
I e L P O S B R R P PR PP PR PP
0 i
120

APV channel




run_13065056 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Mon Mar 5 22:03:02 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2DA

2,asmb

in=2,Disc=

B 1, Timeb
Mon Mar 5 22

run_13065056_FGT_MPV_1,T

:07 2012

05

TARM=1APV=5_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=6 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=1,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=1APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13065056 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
Mon Mar 5 22:05:42 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13065056 FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB

Mon Mar 5 22:03:04 2012

[ ADC for FGT RDO=1,ARM=1,APV=12 |

[ 1000 2000 3000 4000

raw ADC

[[_ADC for FGT RDO=1ARM=1.APV=13 ]

0 1000 2000 3000 4000

raw ADC

[[_Apc for FoT RDO=1.ARM=1.APV=14__ ]
—

3000 4000
raw ADC

0 1000 2000

[ ADC for FGT RDO=1,ARM=1,APV=15

2000 3000 4000

raw ADC

[__ADC for FGT RDO=1,ARM=1.APV=16 _§

0 1000

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=LAPV=12 }
= 4000 p—
] =
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
=
500 p=—
=
=
b=
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
= 4000 p—
] = . . . . .
= = i
8 E e R R bbb R M ARt At ARt AL EEEREEERRS St
< =
gD |[=—pe=q°ooo9500508s005c0000550050909055000059500p0959¢80050095005095905508H0950050595965505903500509556550990954(030950
=
bl e B ] S e e TR LT
B e e e ] A P ] A PR R TP PP PP SR
=
1500 P e = = e s
=
L e A e P S T R LT P EPEE CEEE
=
500 f=—|- - - EERREE
=
L T T PR S S PP SPPET RS s (PTTPIPRY: VERPRVPES PRRPPPPPPPRPRPRPRE (ErPPs:
=L . . i . . . i . . . i . . . i . . i . . . .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=14 }
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 F=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0 ==
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
= 4000
Q 3500 L EEEEELELLE 2o
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

.. . d L L

10

107

107

10°

10




run_13065056 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Mon Mar 5 22:05:07 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13065056 FGT_RMS 1,Timebin=2,Disc=2,asmb=2AB
Mon Mar 5 22:05:42 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

90 p=

80 |

RMS (ADC-ped)

70
60
50
40
30 |
20

10

. . . . ;
0 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=14 "}

RMS (ADC-ped)

i
0

APV channel

[ADC RMS for RDO=1,ARM=LAPV=15__}

90 p=
80

70

RMS (ADC-ped)

60

50

40

30

20

10

0
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=16 }

RMS (ADC-ped)

APV channel




run_13065056 FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB

Mon Mar 5 22:03:08 2012

[ ADC for FGT RDO=1,ARM=1,APV=17 |

[ 1000 2000 3000 4000

raw ADC

[[_ADC for FGT RDO=1.ARM=1.APV=18 |

0 1000 2000 3000 4000

raw ADC

[L_AoC for FoT RDO=1.ARM=1.APV=10 _§
—

5
3
E-Dz
a
<
10*
10
1
0 1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=1,ARM=1,APV=20 |

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=21 _§

3000 40(
raw ADC

[[ADC for FGT RDO=LARM=LAPV=17_J
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

Py
lw)
O
|
p=
X
<
|

[ ADC for FGT

p=
T
<]
11
=)
|
b

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=19 }

= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 f=—- e e - -
% =
3000 f=—|- - - - - - - .
=
2500 f=—1- - - - - - - -
=
2000 = B
=
1500 =+ - - - - - - -
1000 p=—|- - --- - - -
=
500 f=— e - - - e e o
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=20 }
= 4000 p—
5] = 5
o = 2
Q 3500 FE—1- {1 aoafbacadbdfoses .
< =
3000 f/—|-{-{-- - PR R B . dboooo
2500 fp=—y-{-{- -1 - PR R 1 P dooas
2000 p/—|-{-1- -+ - R A Y P B
=
1500 f—|-{-1- -t - soobacadbdoace .
1000 P=—|- - {- -t -r--- o dge b - e
= 2
= 2
500 =t~ - 4= - or e es e p e e s
= 8
[l i B R R PR e B S e
= 2
= i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. . L el .

107

10

10

10

10




run_13065056 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Mon Mar 5 22:05:08 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

MPV (ADC-ped)

L—
1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13065056 FGT_RMS 1,Timebin=2,Disc=2,asmb=2AB
Mon Mar 5 22:05:44 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

RMS (ADC-ped)

120

[

100 f—
[—

80 f——
—

60 |
K _%:H h
MR
20 f—
e
M H 2
o L i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

RMS (ADC-ped)

%
80 f=

70 f=—
60
50
40
30
20

10

=
0

0

1
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=19 }

RMS (ADC-ped)

120 .:_
100 C
80 .:_
60 _:_

40 |r

i
120

APV channel

RMS (ADC-ped)

100 [+

i i
100 120
APV channel

[[ADC RMS for

RMS (ADC-ped)

APV channel




run_13065056 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
Mon Mar 5 22:03:13 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

k=1
@
5
8}
a)
<
10*
10
[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

3
b
Q
ja}
<
10
10
il
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }

ADC-ped

3000 4000
raw ADC

0 1000 2000

[ADC for FGT RDO=1,ARM=2,APV=3 }

C-ped

=AD!
5}

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=4 }

0 1000

2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=2,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

= 10
e I RN RN - B I I e e
=
ey el P o (A Al o I el
= .
ST I | 1
= .
o= il I A - b i N i A A
=i I N Y FAFT I SO R 1 A N
= H
= o
= . ; 107
o i e ] ST i o R b R R =
= L L L L i i
0 20 40 60 80 100 120
APV channel

107

=
=
=
=
=
=
=
=
=
=
=
=
=
=
IS
0

[ ADC for FGT RDO=1,ARM=2,APV=2

1
120
APV channel

- 4000 py
] = . . .
g = 2 2 2
Q 3500 f—+ - {-{-}-F-f -4k -t-
< =
3000 [l - {-{-}-F-f -2k -t-
=
2500 pE—-A-{-1-}-F-F 424 F---- - t-
=
2000 °
=
1500 B 4-1-1-f-r- - 1 o SEEELE ==
1000 B - 1-1-f-r-F -4k ==
=
V)= O B X Y S O AR | PR PP adha
=
o A-Fr- - - e
s i i i i 20
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=2,APV=3 }
< 4000 p—
3 = 10
Q 3500 -
<

3000

2500

2000

1500

1000

500

0

© AT TR AT TR T

[ ADC for FGT RDO=1,ARM=2,APV=4

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

80

120
APV channel

10

° AT A A A

APV channel




run_13065056 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Mon Mar 5 22:05:10 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13065056 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Mon Mar 5 22:05:45 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

— b :
i) | ——rcoc0000000000500 20| g|eoeo0ff]jeeoeoonenmoo00d fpoooooos J

RMS (ADC-ped)

80

[
b
60 ff—=--- T ------- d1E

40 | B B E B -

20 f—kEHAA) - -

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

100

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

B 100 s e fem e
-3 L 2
Q
[a}
< E o
0 LVl iR R R |-k
2 E 8
o
9 |F==cosscacaanoacaannad foooooooamanasass
LU e R EREREREEEREE J T B T
i
20 f—»

il
—l
——

i
120
APV channel

[CADC RMS for RDO=1ARM=2,APV=3__}

3 LY
i
8 80
<
2 70
['4
60
50 |
40
30
20 E
10
2 2 2 :
0 120
APV channel
| ADC RMS for RDO=1,ARM=2,APV=4 .
g 100 a ok £ R PR R LR P PP L E L LT TP T TR e
9] . . . o 5
o
) — H H H b b 5
g 80 [ - - : (AP ¥ e L T s
z L o 5 8 o 8 g
60 |r f - . g edkols|lacscss|llscncacs 0 coooooo

40 -

20 =

i
120
APV channel




run_13065056 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
Mon Mar 5 22:03:17 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

-ped

Al

10°

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=6 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1LARM=2,APV=7 }
|

5 T
2
E-Dz
a
<
10
10
1
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=8 }

20’
o

ADC-

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=9 }

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=5 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

‘.
1
.
:
i
:

0

< AR R A

N
NE-.

[ ADC for FGT RDO=1,ARM=2,APV=6 }

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=7 }

1
120
APV channel

- 4000 p—=
] =
o =
Q 3500 =+ - -
< =
3000 = - -
=
2500 f=—r- -
=
2000 f=— - -
=
1500 f=— - -
1000 pP=—- - -
=
500 f=—r - -
=
o
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=2,APV=8 }
- 4000 p—
5] = . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o=
=
=
0

[ ADC for FGT RDO=1,ARM=2,APV=9 "}

40 60 80 120

APV channel

- 4000 p— - - - - - -
e =
9 3500 f=—
< =
3000 fm=—
2500 [=—
=
2000 fm——
=
1500 f=—
=
1000 f=—
=
500 f—
=
of—
- . . i . . . i . . . i . . . i . . . i . . . i .
0 20 40 60 80 100 120

APV channel

. . L .

10

10

10

10°

10°




run_13065056 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Mon Mar 5 22:05:11 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13065056 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Mon Mar 5 22:05:46 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

RMS (ADC-ped)

APV channel

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=7 }

= =
H = —
2 80
Q
o
< T
[} r—
2 =
o _
=
=
30 f=—
r—
e e T I e T e X I o e e S Er MM Y HEEAARY PR R ¥ F o F -
=
10 = P X I I L I I I R e N e RS T R
= r i
0% 20

APV channel

[CADC RMS for RDO=1,ARM=2,APV=8__}

80 b=
=

70 E

RMS (ADC-ped)

60
50
20 k

30

20

10

® 0
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=9 "}

RMS (ADC-ped)

APV channel




run_13065056 FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB
Mon Mar 5 22:03:21 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13065056 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB

Mon Mar 5 22:05:12 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13065056 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Mon Mar 5 22:05:47 2012

[ADC RMS for RDO=1,ARM=2,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=2,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13065056 FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB
Mon Mar 5 22:03:23 2012

[[_ADC for FGT RDO=1ARM=2,APV=17 | [ ADC for FGT RDO=1,ARM=2,APV=17 |

[ 1000 2000 3000 4000
raw ADC

[[_ADC for FGT RDO=1.ARM=2.APV=18 |

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=LARM=2,APV=19
—

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=2,APV=20

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=2,APV=21 _§

ADC-ped

.
15}

0 1000 2000 3000 4000
raw ADC

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT

RDO=.

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=19 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

" 1
100 120
APV channel

L LN LA A L A K AL il

[[ADC for FGT

RDO=1,ARM=2,APV=20 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

80

APV channel

il

© FTFTFATFAT TR AT TR AT IT

[ ADC for FGT RDO=1,ARM=2,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40

80

100 120
APV channel

rm
m
rm:
m
rm:
o
L
b=
=
L
b=
=
L
I
0

APV channel

10°

10

10

10°



run_13065056 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Mon Mar 5 22:05:12 2012

[ADC MPV for RDO=1ARM=2,APV=17

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13065056 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
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run_13065056 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Mon Mar 5 22:03:28 2012

[ADC for FGT RDO=1,ARM=3,APV=0 } [ ADC for FGT RDO=1,ARM=3,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=1 } [ ADC for FGT RDO=1,ARM=3,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=3,APV=2 } [ ADC for FGT RDO=1,ARM=3,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=3 } [ ADC for FGT RDO=1,ARM=3,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=3 APV=4 } [ ADC for FGT RDO=1,ARM=3,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=4DA

4 asmb

in=2,Disc=

B 1, Timeb
Mon Mar 5 22

run_13065056_FGT_MPV_1,T

13 2012

05

TARM=3,APV=0_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=3,APV=1 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

ARM=3,APV=2 "}

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=3,APV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=3,APV=4 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel
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run_13065056 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
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run_13065056 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
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run_13065056 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
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run_13065056 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Mon Mar 5 22:03:44 2012

[ADC for FGT RDO=1,ARM=4,APV=5 } [ ADC for FGT RDO=1,ARM=4,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=6 } [ ADC for FGT RDO=1,ARM=4,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=4,APV=7 } [ ADC for FGT RDO=1,ARM=4,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=8 } [ ADC for FGT RDO=1,ARM=4,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=4,APV=9 } [ ADC for FGT RDO=1,ARM=4,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5DA

5,asmb

in=2,Disc=

B 1, Timeb
Mon Mar 5 22

run_13065056_FGT_MPV_1,T

17 2012

05

TARM=4,APV=5_}

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=6 |}

ARM=4,APV:

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7}

ARM=4,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=4,APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=4,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13065056 FGT_RMS 1,Timebin=2,Disc=5,asmb=5DA
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run_13065056 FGT_ ADC_1,Timebin=2,Disc=5,asmb=5AB
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run_13065056 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13065056 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
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run_13065056 FGT RMS 1,Timebin=2,Disc=5,asmb=5AB
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run_13065056 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
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run_13065056 FGT MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13065056 FGT RMS 1,Timebin=2,Disc=1,asmb=1BC
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run_13065056 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
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run_13065056 FGT_ ADC 1,Timebin=2,Disc=3,asmb=3BC
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run_13065056 FGT_ ADC 1,Timebin=2,Disc=3,asmb=3CD
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run_13065056 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3CD
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run_13065056 FGT RMS 1,Timebin=2,Disc=3,asmb=3CD
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run_13065056 FGT_ ADC 1,Timebin=2,Disc=3,asmb=3CD

Mon Mar 5 22:04:34 2012
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run_13065056 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3CD
Mon Mar 5 22:05:30 2012
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run_13065056 FGT RMS 1,Timebin=2,Disc=3,asmb=3CD
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run_13065056 FGT_ ADC 1,Timebin=2,Disc=4,asmb=4BC
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run_13065056 FGT MPV_1,Timebin=2,Disc=4,asmb=4BC
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run_13065056 FGT RMS 1,Timebin=2,Disc=4,asmb=4BC
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[ADC RMS for RDO=2,ARM=3,APV=0_}
120 [E

100 |+

RMS (ADC-ped)

80 [+

60 [+

40

20 |

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=1 "}

100

RMS (ADC-ped)

80

"HHHHH -I- 7T

60

40

20

1
120
APV channel

SHATITIITHTT

[ ADC RMS for RDO=2,ARM=3,APV=2 "}

RMS (ADC-ped)

i
120
APV channel

100

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=4 "}

RMS (ADC-ped)

i
120
APV channel




run_13065056 FGT_ ADC 1,Timebin=2,Disc=4,asmb=4BC
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